A L g =
FX4H SH2EE ShEtERBATERESR
& I ARTHA—H A E A B SH25E8A4H
¥ & ffitg 10,513,800 | Zi#152#9%8 5,676,000
L ERfEE D PHFLELEED
1105> D 100D 4% 9,558,000F 1736:‘0)1000)1&1’% 5,160,000F1
B4z x = % AFL{HE B AL B R AFLmE RiEZE(REZ2)
(110> D 100D fi4%) | (1105 D 100D 1Hi4E) | (11053 D100D1f4E) [(1105 D 100D &)
1 TOTHAKKET BEREEEM 5,160,000
2 MR /IRa EREXIE 6,490,000
3 |RESATFVIBR S BREXE 7,000,000
4 (ML HIRT ERBEEER 8,600,000
5 |ERmERXEt BEREXE 8,900,000
A P I - g =
FX4H MARTEERE-OMN T —FTyTERERET
& I ARTHA—H A E A B SH25E8A4H
¥ E fflitg 9,988,000 | L#I2H9%E 8,030,000
L ERfEE D P FLELEED
1105> D 100D 4% 9,080,000 1736:‘0)1000)1&1’% 7.300,000F1
B4z x = % AFL{HE B A LM% B R AFLmE RiEZE(REZ2)
(110> D 100D fi4%) | (1105 D 100D 1Hi4E) | (11053 D100D1f4E) [(1105 D 100D &)
1 EEmEskst BEREXE 7,300,000
2 |RESATFVIBRSH BEREXE 8,700,000
3 TOTHAKKET BEREEEM 8,760,000/
4 |B¥ASH/IRa BEREXE 9,000,000




AW OB RO
BEA RH2EE BRAVTTURABE KHBEEERRGEBRER
5 B BT A AR TR BB P AfLE AR SH24%E8A4H

F RE i1 9,728 400 | H#)22HK9%ER 5,837,040
110%%%?@?&#& 8,844,000F 1%??%?&5%&@% 5.306,400F
AL X = A e I
(#éi% RS RFE B 5,306,400/
L)

1 |BeuTOTEMAVSILEY 5,306,400

1 |[arEavY L YRR S HAABE LR 5,306,400M

1 |BteumBARHILFILILY 5,306,400

5 |AMTI/I—FHARH 6,190,800

5 |[#RX=1tBIERIH 6,190,800/

7 |BRERSEARFIGHAE4 7,075,200/

7 [ K 7,075,200

9 |[HHXEHAXKIAVHILEUE 7,100,000

10 |MRXEHBREHIFILEDY 7,187,524

1 |t ERE 7,800,000

12 (A KE 8,640,000

13 [ KXEREHRET 8,844,000

14 |BASHERIVHFILEVVBRBRESEERM 9,700,000H]




